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Syélrney Girls High School
"YEAR 11
MATHEMATICS
Half Yearly Examlnatmn 2013

Time Allowed: 60 minutes + 5 minutes reading.
Total Marks: 60

Topics: Basic Arithmetic and Algebra, Factorisation, Equations, Plane Geometry and Special Quadrilaterals

{nsttuctions:

+ Attempt ALL questions

+ There are 4 questions, each worth 15 marks

¢ Show all necessary working. Full- marks may nof be awarded for careless or
incomplete working.

+ Begin each question on a new page

¢ - Diagrams are NOT to scale

Name: . R __ Teacher:

Question 1 (/5 marks) (Startnew page)

9

0

Simplify V18 ++/112 —~/28

Bxpress O.Iizl as simplified fraction.
Solve x* +3x—4=0

Sofve X0 XH1_
3 4

Find integers a and b such that (5—~/2)% =g ~b2

In the diagram 4BC is an isosceles triangle with 4B = AC and ZBAC =38,

Find the size of Z4CD Give reasons for your answers.




Question 2 (/5 marks) (Startnewpoge) Question 3 (15 marks) (Stert new page)

a 33 o @ 2 5 a) N
) Use the “completing the square “ method to solve x*+2x—5=0 . 3 ‘Write with a rational denominator iﬁ +z

b) Find the values of x for which ix+1| <5

2
b) Solve simultaneously x+y =15 and x*+)* =125
c)
Ifg= §[2—_,b = £ find in simplest form: . : 3 .3 3
2 3 . o x +1 X x4 2x+2
_ Given f(x)=——F5— and g(x)=——"—
X —=x"-x X +2x
P2 ‘
b 2 _ i) Simplify f(x) andg(x).
. VA% : ) ‘ 1
ii) a) 502 . P ii) For what value of x does f(x)=——.
b a : g(x)
&\1 Jhn the given figure AD/)BC ' CE bisects /DCM . /BAD =117 and ZADC =126° d) Inthe diagram ABCD is a parallelogram . PQ is the line that joins the midpoints of sides 4B and BC.
rove that AB//CE . 3 o . : )
i) Prove using similar triangles that PQ//AC
i) Prove thatarea A BPQ =éx area of parallelogram ABCD
A
Y
e) Use the given diagram to prove that AABF = ADEC 3




QL?GStiOI’l 4 s rarks)  ($tart nelw page)

a) 1

Find the exact solution (using the quadratic formula) of 52_x =24—
. x

b)  Solve |2x+1l =3x-2

c) Inthe given diagram 4D = BE =25, £C is aright angle, AB=8and AC =15.

Find the length of DE .

d) Use the given diagram
i} Prove that AAPC is isosceles, with AP = AC
i) Prove AABM similar to ABPC 1

iii) Hence or otherwise show that M = B4

MC 4C

End of the test
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